3500

130

500
\\

550

b=
=
S
[Na]
—~
250
3800
olll-—s
| =
| R
J 1 J 1
) =
® |
W
|
3500
3600 160

(AR E

WHHERE 250 m’min
________________________________ BRIk E 1470 ¢
_‘ wRo7y B I7> $800 14
: EZ250 m’min §%[£3. 1 hPa
4804I 5~ S | WRI7TUE—S £ESER 34 200V 4P 3. 7kW 14
' : K77 A—mRT7> No. 4 )% 18
‘ | AE250 m'/mn $E9. 8 hPa
. l K I77VE—42 2FERIR 348 200V 4P 7. 5kW 18
- _ — | A YF (3 HERITY ON.” OFF 14
- I 3 += | T RIRRAYF HET7Y ON./OFF 14
. | RYa—LE/8 HE 20~100% 1=
I 2R AIEE R TE L rk 1=
| BERIRTLE  T4LEVIT7—T4)LF PS/600 800x1300 444
N & s l WwR2RI4ILE  T4LFVIT—T4)L3 PA/350 600x1500 18
: ol T | J4LRVIF7—T4)L% PA-350 1100x1500  3#&
2 | BRB TJ—AKIK N—7.5 g L—
| ®wEI7Y  N—7 TL—
: BRI7>  3.64PB4. 74.74.86 /NATILTI)L—
| | | Z 0t A—HiEHEE
l b5V IEHE
550 850 | TRAERERIE: BITHEHTSL
! 38 200V JL—hHEBE 125A
| 2RBERRGETE BETI7
HwRaRy o R | T ARBICR A EEEC RS
J KR A VI E (- R T7UICERED
————————————————————————— FONEAE BT - RBIT-FRLEE b
(FOLDEHEKIFO. BhPalATDIL)
HBKEE IS  AMAIEmOHEKOCEREZE0D
B#HOFE Re %
BEICEY45FE
KREFICEHTHEIE
TDMBARREEIE
1500
= £
3 2 .
2 10 2 3
S 1 ~
R % B mn rEl 130 [
= /| VBC-35F MS
2| T7—NSXT—ZXVB
2 M| B
%5 | D VBC-35FM5
500 1500 700 %
2000 1500 9 %

PRA-SHEXEH




